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Xu=86,92,Y,,=88,59.2,~76,63 B,
X, =0,3447y,,=0,3513 £
A1= (a1~ a1 ) Yig (Y/Ym)lg
By = (b1~ by ) Yig (/Y19

a; = ayq [(x—0,171/y] 1
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X,=86,92,Y,,~88,59.2,~76,63 B,
x,=0,3447y,,=0,3513 +40
Ap= (@ = ay) Yig (VY1913
Bz = (b~ by, Y15 (Y1913
ay = a0 [(x=0,171)/y] 1
b,=ba0 [(Mp1x+bp1)/Y]
80=1, byo=-0,4 8271

Mp=-0,169 bp1=0,389 : BSOop—a

n = P50 -40

Ostwaldcolours (0) Y\)=88,6

max (m) chromatic value, P50 T —40
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X,=86,92Y,~88,59.2,~76,63 B,

Xy=0,3447y,,=0,3513 0

A= (@ = as) Yig (VY1913

B3 = (b3~ bs ) Y15 (/Y1913

ag =ay [(x-0,17D/y] +

b3=ba [(Mp1x+bp1)/y]

ay=1, byy=-0,4 go7l 37

Mp1=-0,974p=0658 55 : NS

n = P50 -40 32 40
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Ostwaldfolours (o) Y\)=88,6
max (m)hdatic value, P50
chroma (A*3, B*3)
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X,=86,92.Y,~8859.2,~76,63 B,

Xy=0,3447y,,=0,3513 L0

As= (@~ ay) Yis (Y/vla)ig

By =(bs—byg ) Y15 (Y/Y1g)

ay = ay [(x=0,171/y] 1

b=ba0 [(Mp1x+bp1)/Y]

ap0=1, byy= 04 g271

Mpy=—0,1690520,389 P50~ 3/ A

n = P50 -40 0 2 40

1

Ostwalddolours (0) Y\)=88,6
max (m)hdatic value, P50
chroma (A*,, B*,)
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X=86,92,Y,,=88,59.2,=76,63 B

Xy=0,3447y,=0,3513 440

A5 = (a5 —a5.) Vg (VY1913

B = (b5 — b5 ) Y15 (Y/Y19)

a5 = ayq [(x—0,171/y] 1

bs=ba [(Mp1x+bp1)/y]

ay=1, byy=-0,4 go7l 37

Mp;=-0974b=0,658  ,  o55] , 5

n = P50 -40 32 40

0

Ostwaldfolours (o) Y\)=88,6
max (m)hdatic value, P50
chroma (A*s, B*s)

BE251-7A 1




X,=86,92.Y,~8859.2,~76,63 B,
%,=0,3447y,,=0,3513

Aq= (8 ~a5,) Y1s (VY1913

Bg = (bg — b ) Y15 (Y/Y19)

g =g [x/Y] |
be=ba [(Mp1x+bp1)/y] -
ap0= 1, byo= -0,4
Mp1=-0,974,00,=0.658 __, 955 |

n = P50 -40

Ostwaldcolours (0) Y\)=88,6
max (m) chromatic value, P50

chroma (A*g, B*g)
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